Ubungsaufgaben Umrechnung

Wissenschaftlich

1. 27mm = pm =
2. 13km = cm =
3. 2.2um = nm =
4, 5dl = | =
5. 0.003m = mm =
6. 107%km = mm =
7. 5-10%pm = nm =
8. 4.1Q°%km = - m =
9. 30um = mm =
10. 2-10°nm = pm =
11. 8-10°km = m =
12. 0.00006km = mm =
13.  30-10°m = m =
14. 0.0085km = dm =
15. 4.5g/cm® = kg/m?> =
16. 12mm? = cm? =
17. 65dm? = mm? =
18..  25kg/m? = g/ecm? =
19. 12g/cm? = kg/cm? =
20. 637m? = km? =
21.  10*mm? = dm? =
22.  31-10°nm? = 'm? =
23. 410%%m?® = m?3 =
24, 7-10°um* = m? =
25. 14 m? = nm? =
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